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INSTRUCTIONS �

1. Please keep away your mobile phone,

calculator, slide rules and log tables
before attempting the questions. Failure
to do so can result in cancellation of your
candidature.

2. There are THIRTY questions in this
paper including Twenty multiple options
one correct type.

3. Please answer to the point to all
questions. There are no marks for length
of answers.

4. Please answer all the questions within
the answer booklet. No extra sheets will
be supplied to any candidate.
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All Parts are compulsory.

Part – A (1 mark each question)

Please answer the twenty questions on page 1 of the answer booklet by writing the

serial of the answer that you find to be most complete and correct.

1. The precious coral Corallum rubrum belongs to the following order —

(A) Actinaria (B) Alcyonaria

(C) Gorgonacea (D) Madreporaria

2. Chikungunya is transmitted by a vector having genus —

(A) Anopheles (B) Aedes

(C) Culex (D) Ascaris

3. Corpus callosum is present in —

(A) Shark (B) Rana

(C) Crow (D) Squirrel

4. Identify the non-poisonous snake.

(A) Eryx johnii (B) Bungarus

(C) Hydrophis (D) Ancistrodon

5. Blood supply to the heart is carried out by —

(A) Carotid artery (B) Carotid vein

(C) Coronary artery (D) Coronary Vein

6. Protein digestion in the stomach is aided by —

(A) Amylase (B) Trypsin

(C) Carboxylase (D) Hexokinase

7. Find the odd compound out.

(A) Xylose (B) Sucrose

(C) Mannose (D) Fructose
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1. '����	��!����	����
���2�&��M
����=2��M
�������9D��3�2�N���:��������!�0

OIP ?Q7����A� ORP '��S�T�����A�

OJP ��	���	*���JA� O P ��C�D�	2��H����A�

2. B��	�
����AC�1�U������8����������7�
����	������2:���,��������!�0

OIP '��V�%�:
 ORP W �:


OJP ��	����
S O P ':����:


3. ����*:
�����	&�:����M
�<!���%&������!�0

OIP X��
* ORP ��Y�

OJP ���� O P '8��

4. 5X�5�&!��:���*�������������4J0

OIP I��
S�Z�[�� ORP =�9�����:


OJP >��D�	2�\:
 O P W�S:�	]�D��


5. >�̂!�A�������������H������AC��.!�����CD�����!��_

OIP �����	�`D
�?�*� ORP �����	�`D
�'a!�����

OJP ����	�����?�*� O P ����	�����'a!�����

6. b����!�%&���H2�`��
�U�,*�������.!�����<!���:�>�A����CD�����!�0

OIP '�������:
 ORP `2"S�


OJP ��
�*��ST����:
�(carboxylase) O P >���	S�Q���:


7. ���9"���:����&!��:�9A��������������9D��[ L��0

OIP ��S������	�:
�(Xylose) ORP :����	2�:


OJP �����	��:
 O P V�2��	7�:




ZO ����

4

8. Cheilosis is a deficiency disease of —

(A) Retinol (B) Riboflavin

(C) Inositol (D) Biotin

9. Who discovered giant chromosomes ?

(A) Beneden (B) Porte

(C) Robert Brown (D) Balbiani

10. Fluid Mosaic Model of Plasma Membrane was proposed in the year —

(A) 1965 (B) 1972

(C) 1982 (D) 1987

11. Sickle cell anemia in man is caused due to the following metabolic error

(A) Glutamine replaced by Valine

(B) Valine replaced by Glutamine

(C) Proline replaced by Valine

(D) Valine replaced by Proline

12. When released from ovary, human egg contains —

(A) One Y chromosome (B) One X chromosome

(C) Two X chromosomes (D) XY chromosomes

13. Gene flow is otherwise known as —

(A) Natural selection (B) Mutation

(C) Migration (D) Genetic drift
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8. F����	�J:
�(Cheilosis)�<!����69!�����	�������	���

OIP ��̀ ��	��
 ORP �
�	�V�&�5�


OJP <��	�Jc�	��
 O P =@	�`�


9. =^>��
���	2��	�:�	���M
���������AC������9D��[ !�����_

OIP 
���D��
 ORP ��H�c�*

OJP ��=c
*�
d2�
 O P =%eAC�

10. ��&:������9
�2�����V�H&<D
���	:�L��
������	��A�������_________���X�*!�%&�'�����	�/:���L����0

OIP 1965 ORP 1972

OJP 1982 O P 1987

11. ������9D��;����F�A����"#�9!�E�������X����%&��J���
�:��
�'��5�AC�;9c�������!�0

OIP ���%��
����&c������
�������=!���L�:�����!�

ORP ���&c������
����%��
�������=!���L����!�0

OJP ���%��
���H2����
�������=!���L�:�����!�

O P ��H2����
����%��
�������=!���L�:�����!�

12. '9D�3�A�/9!��>�	��=9!����C�����'9D�!�%&��_____________�<������!�0

OIP 69!��� Y ��	2��	�:�	���M


ORP 69!����X ��	2��	�:�	���M


OJP I��D��� X ��	2��	�:�	���M


O P XY ��	2��	�:�	���M


13. U��
�>���������[���9!�	�����A�������0

OIP ���:�E*���?@�� ORP ������A�

OJP ���:� O P Z���`�
� 2V
7
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14. Evolution of man began in —

(A) Asia (B) Europe

(C) Africa (D) N. America

15. The biotic relationship seen in Ants and Aphids is —

(A) Commensalism (B) Mutualism

(C) Predation (D) Parasitism

16. The connecting link between reptiles and birds —

(A) Apteryx (B) Struthio

(C) Crocodilus (D) Archaeopteryx

17. Endosulfan is an —

(A) Antibiotic (B) Acaricide

(C) Insecticide (D) Acaricide and insecticide

18. Corpus luteum secretes —

(A) Testosterone (B) Estrogen

(C) Progesterone (D) Epinephrine

19. Golgi complex is concerned with —

(A) Excretion (B) Secretion

(C) ATP synthesis (D) RNA synthesis

20. State bird of Karnataka is  —

(A) Peacock (B) Indian Roller

(C) Bulbul (D) Koel
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14. ��C�������5��:��<%&���2��9(���L����0

OIP WfAC ORP A����	��


OJP ?\2�� O P ;0�'�������

15.��<�������������������ED�>���������%&��(Aphids) ��9D��=������Z��5���:�9=9g��_____________

OIP :�>�(��9b���(Commensalism) ORP ����:�#�����(Mutualism)

OJP ����(�������(Predation) O P ������.X�+��� (Parasitism)

16. :���:�^��������(Reptiles)�����������Q����������:���:�������	9 

OIP '��7��
S ORP :�	])@	

OJP ��	2��	� �:
 O P ?Q*@	��7��
S

17. I9D�	�:�%h�
�I9=�!���_____________

OIP ?9`=AC`�
 ORP '���:��D


OJP <�
:�Q7:��D
 O P '���:��D
���������<�
:�Q7:��D


18. ����*:
��	�`A���M
�<!������:�25:�����!�0

OIP c�:�	7�:�7��	��
 ORP I:�	]�Z��


OJP ��H2�Z�:�7��	��
 O P I"��V�i�


19. ��%j�:�9Q�,*�<!�����:�9=9kJ!��_____________

OIP 5:�b*�� ORP :�25:��5��

OJP ATP J9l�J:
 O P RNA J9l�J:


20. ����*���!����b����Q�� _____________

OIP ��5�� ORP ;������>�Q� (Indian Roller)

OJP =��
=��
 O P ��	�E��
[P.T.O.
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PART – B

(Section – 1)

  Answer any five of the following : (5×4 = 20 Marks)

21. Differentiate between Chondrichthyes and Osteichthyes by their externals.

22. Discuss on "cash from trash-using Earthworms".

23. Enzymes are biocatalysts. Substantiate.

24. Explain the inheritance of color blindness in man.

25. Describe spermiogenesis in mammals.

26. Give a brief account of National Parks of Karnataka.

27. Explain Darwinism.

(Section – 2)

(20 marks × 3 Questions = 60 marks)

  Answer all the following questions :

28. Describe the 'fluid mosaic model' of the plasma membrane and explain its different

functions.

OR

Describe the various evidences of organic evolution.

29. Describe the structure of a multipolar neuron and explain the propagation of nerve

impulse along a nerve fibre.

30. Enumerate the general characters of Phylum Echinodermata and give the

classification upto classes with examples.

OR

Explain the fertilization process in seaurchin egg.
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8�(��– B

;�8�(��– ��

AC��.!�!���	�@=� ���23����8���;����J0 (5×4 = 20 	���(�*� )

21. ��9 2��l����������������?J7�F�:�m���������'��.�����I�
S���*�
�������2�����'��.��8E������(��!����������48J0

22. “I��>��������������;��@	�EJ���:�/9!����:��”�n�������#��A������F�B*J0

23. Q,+�����(enzymes)�Z��5���Q2AC��g�*�������0����	"J0

24. ������X����%&�=,on������D���(color blindness)�'�����9p�A���A������5���J0

25. :�:�������%&������2b����������� (spermiogenesis) 5���J0

26. ����*���!����f]�A��;!���������=��j�:�9Q�����5������� 0

27. D�5*�
���!��������5���J0

;�8�(��–��

:��6����23����8��	�;����J0 (20 	���(�*� �× 3 ������(�*� �= 60 	���(�*� )

28. ��&:������9
�2�����V�H&<D
���	:�L��
������	��A������5���J���������'!����55g����A�*���������5���J0

	A�%�

Z��5���5��:���!��55g�����b���������������5���J0

29. =>��g��25�A����	����
�:�9��F���A������5���J������������
*�V��=�
������������������ (nerve impulse)

��2:���,�������5���J0

30. V������M
�Ip��	�D���C*c�!�� :���C���� ����,��������� ��`7� ��C ���������;!�>���Y�����	9/��

����*�������������E*�����,��� 0

	A�%�

JACB*�
���	c�7A�%&�V�%�����,�(fertilization)���2Q2@�A������5���J0

___________________



ZO ����

10

SPACE  FOR  ROUGH WORK
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